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UIL ACCOUNTING

Invitational 2001-B

Group 1

In questions 1 through 4, use the following code to indicate the account classification:  A. Asset    B. Liability    C. Capital    D. Revenue    E. Cost of Merchandise    F. Expense

In questions 5 through 8, indicate how each account would be decreased using the code:  DR=debit    CR=credit

	
	Account

Classification
	Decrease

Side

	Accounts Payable
	1.
	5.

	Sales
	2.
	6.

	Purchases Discounts
	3.
	7.

	Merchandise Inventory
	4.
	8.


Group 2

Match each transaction in questions 9 through 13 to the effect of the transaction on the accounting equation given below.  Write the correct identifying letter on your answer sheet.  An identifying letter may be used more than once.

	
	Assets
	Liabilities
	Owner’s Equity

	 A.
	Increase/decrease
	unaffected
	unaffected

	 B.
	increase/decrease
	increase
	unaffected

	 C.
	decrease
	unaffected
	decrease

	 D.
	increase
	increase
	unaffected

	 E.
	increase
	unaffected
	increase

	 F.
	increase
	increase
	increase

	 G.
	decrease
	decrease
	decrease

	 H.
	decrease
	decrease
	unaffected

	  I.
	unaffected
	increase
	decrease

	 J.
	decrease
	decrease
	increase

	 K.
	increase/decrease
	unaffected
	decrease


  9. Recorded cash sales and sales tax collected.

10. Purchased merchandise on account.

11. Bought equipment with a down payment and the balance on account.

*12. Paid on account an invoice for merchandise within the discount period.

13. Adjustment to record an increase from beginning to ending merchandise


inventory.

Group 3

Indicate the accounts to be debited or credited in making the closing entries in items 14 through 18 by writing the correct identifying letter that corresponds to the accounts listed below.  A choice may be used more than once.

	A
	Supplies on Hand
	
	F
	Income Summary

	B
	Prepaid Insurance
	
	G
	Sales

	C
	Inventory
	
	H
	Purchases

	D
	Kyle Gregory, Capital
	
	I
	Supplies Expense

	E
	Kyle Gregory, Drawing
	
	J
	Insurance Expense


14. To close the Sales account, which account should be credited?

15. To close the Purchases account, which account should be credited?

16. To close Insurance Expense, which account should be credited?

17. To close the withdrawals account, which account should be debited?

18. To close Income Summary when there is a net loss, which account should be debited?
Group 4

The following T-account summarizes the activity for fiscal year end December 31, 2000 for a business that started in 1997.  Revenues for 2000 were $81,470 and expenses were $67,040.  The owner made one investment in the business during 2000 and also made withdrawals.

	    Paul Johnson, Capital
	
	

	
	          60,740
	

	
	          20,000
	

	
	                     80,740  
	(footing before closing entries)

	           5,000
	          14,430
	

	
	                     90,170
	(footing after closing entries)


For questions 19 through 28, write the identifying letter of the correct answer  using the following choices.  A choice may be used more than once.

A. $  5,000

E. $67,040

H. $81,470

B. $14,430

F. $72,040

 I. $90,170

C. $20,000

G. $80,740

J.  none

D. $60,740

19. the amount of capital on January 1, 2000

20. net loss for 2000

21. the amount of owner investments made in 2000

22. the amount of capital that would be found in the trial balance column of the work

      sheet for 2000

23. the amount of owner withdrawals for 2000

24. net income for 2000

25. the amount of ending capital that would be found on the balance sheet for

      December 31, 2000

*26. the amount of capital extended to the balance sheet credit column of the work sheet

27. the amount which includes owner investments and net profits of previous years

28. the amount of total business expenses

Group 5

The information needed to prepare the trial balance for Barry Company for 2000 before adjusting entries is as follows.  Total expenses are grouped together for simplicity.  Ending inventory on December 31, 2000 is $200,610.  For items 29 through 35, write the correct amount on your answer sheet.

	Cash
	24,670
	
	Sales Discounts
	17,368

	Accounts Receivable
	8,927
	
	Sales Returns & Allowances
	8,684

	Inventory
	210,590
	
	Purchases
	348,660

	Accounts Payable
	89,610
	
	Purchases Discounts
	14,870

	Gary Barry, Capital
	       ?
	
	Purchases Returns & Allow.
	6,820

	Gary Barry, Drawing
	60,000
	
	Total Expenses
	392,815

	Sales
	868,429
	
	
	


29. The amount of capital on the trial balance is $_____.

30. Total debits on the trial balance are $_____.

31. Net purchases are $_____.

32. Net sales are $_____.

33. Cost of merchandise available for sale is $_____.

*34. Gross profit is $_____.

**35. Net income is $_____.

Group 6

Use the following information to answer questions 36 and 37.  On a given balance sheet, total assets were $165,990 and liabilities were $56,420.  The following errors and omissions were made by the accountant:

1. Office Supplies on Hand was overstated by $650.

2. Charge sales of $350 were not recorded.

3. The Prepaid Insurance account was understated by $820.

4. Ending inventory was understated by $8,000.

5. Computer Equipment bought on account was not recorded $1,750.

*36. These combined errors will cause the following sections of the UNCORRECTED


balance sheet to be:



Total Assets


Total Liabilities

Owner’s Equity

A.    overstated


correctly stated

    overstated


B. correctly stated

correctly stated
   
correctly stated


C.   understated


   understated

   understated


D.   understated


   understated

correctly stated   


E.    overstated


    overstated


    overstated

Refer to the data above in Group 6.  Write the correct amount on your answer sheet.

**37. What is the amount of capital on the corrected balance sheet?

Group 7

For items 38 through 51 write the identifying letter of the best response on your answer sheet.

38. A system that enables banks to transfer funds from the account of one depositor to the account of another without the immediate exchange of checks is called

A. Internet Funds Exchange

B. Checkless Funds Transfer System

C. Electronic Funds Transfer System

D. E-bank Money Moving System

39. The process of determining whether the amounts of cash recorded in a business’s accounting records and in its checkbook agree is called

A. proving the ledger

C. reconciling the bank statement

B. reconciling cash

D. proving cash

40. A check mark in the Posting Reference column of a Sales Journal indicates that the


A. transaction has been posted to the accounts receivable subsidiary ledger


B. transaction has been journalized correctly


C. effect of the transaction is to increase the sales account balance


D. transaction has been posted to the accounts payable subsidiary ledger

41. If a business has invested $13,000 in an asset with a cost of $24,000, what is the


amount of its liability?


A. zero
B. $11,000
C. $13,000
     D. $24,000
E. $37,000

42. On October 31, Binder Company had an Accounts Receivable balance of $80,000.


During the month of November, customer payments were $52,000.  The Nov. 30


Accounts Receivable balance was $74,000.  What was the amount of credit sales 


during November?

      A. $46,000
B. $58,000
   C. $74,000
        D. $102,000
E. $126,000

43. If the assets of a business increased $15,000 during a period of time and its


liabilities increased $6,000 during the same period, owner’s equity in the business


must have:


A. increased $9,000

D. decreased $21,000


B. decreased $9,000

E. changed by some other amount


C. increased $21,000

44. In accounting, there are two kinds of equity:


A. Receivables and payables



B. Controlling and subsidiary


C. Liabilities and owner’s equity


D. Assets and claims against the assets

Group 7 continued

*45.  For a purchase
made on account on May 14, 2000 with terms of 2/10, n/30, the 

        payment amount of $4,993.20 would be the correct net amount for which of the 

        following?



 Gross Sale

   
Shipping


Payment Date


A.   $5,095.10

   $250 FOB destination

May 24, 2000


B.   $4,840.00

   $250 FOB shipping

May 23, 2000


C.   $4,993.20

   $250 FOB destination

May 25, 2000


D.   only A and B


E.   only A, B, and C

The following information should be used to answer questions 46 and 47.  Cody Lightfoot began a business on October 1 and completed the following transactions during that month:


(1) Invested $15,000 in cash and equipment having a $5,500 fair market value.


(2) Paid the rent on office space for October, $525.


(3) Purchased additional equipment for $4,900, $1,000 cash and $3,900 on credit.


(4) Completed a work assignment and billed client for $1,800.


(5) Completed a work assignment for $1,000 cash plus $3,000 balance billed to the

            client.


(6) Paid assistant’s wages for October, $750. (disregard payroll taxes)


(7) Withdrew $1,500 for personal living expenses.


(8) Collected $400 on account from client in transaction (4).


(9) Paid $500 for equipment previously purchased on credit.

*46.
What is net income for October? 


A. $1,525     B. $3,025     C. $4,525     D. $4,925

*47. What is the owner’s equity balance at the end of the month if closing entries are 


made monthly?


A. $3,025     B. $4,525     C. $19,525     D. $20,500     E. $23,525

48. What is the correct order of usage of the following documents?


A. purchase order, invoice, purchase requisition, packing slip


B. purchase order, purchase requisition, invoice, packing slip


C. purchase requisition, purchase order, packing slip, invoice


D. packing slip, purchase requisition, purchase order, invoice

49. Debits are used to increase or decrease the following accounts:



  Assets
Revenues

Liabilities

Expenses

A.  increase
  increase

decrease

 decrease


B. decrease
  decrease

increase

 increase


C. increase
  decrease

decrease

 increase


D. decrease
  increase

decrease

decrease

Group 7 continued

50. An independent error that a trial balance will disclose includes

A.  entering a transaction twice

B.  entering a credit as a debit

C.  entering an amount in the wrong account

D.  omitting a transaction

*51. A business with a fiscal year end of August 31 has the following account balances for the dates given:

	Cash, 9/1
	55,420

	Cash, 9/30
	60,600

	Accounts receivable, 9/1
	15,690

	Accounts receivable, 9/30
	20,800

	Total owner’s equity, 9/1
	….?…. 

	Total owner’s equity, 9/30
	….?….

	Merchandise inventory, 9/1
	25,500

	Merchandise inventory, 9/30
	30,430

	Accounts payable, 9/1
	32,870

	Accounts payable, 9/30
	….?….

	Net income, 9/1 - 9/30
	12,280



Total owner’s equity on the respective dates would be:



September 1
     September 30

A.    $  63,740

         $  35,810


B.    $  76,020

         $  35,810


C.    $  63,740

         $  76,020


D.    $129,480

         $187,850


E.    $  76,020

         $  63,740

Group 8

For items 52 through 59 regarding payroll, write the identifying letter of the best response on your answer sheet.

52. Gross pay is sometimes referred to as


A. Net Pay


D. Total Earnings


B. Post-Deduction Pay

E. Both A and B


C. Gross Earnings

F. Both C and D

*53. Amy Wang worked 40 hours and produced 530 items.  Amy’s hourly rate of pay is



$6.50.  The piece rate is 15 cents.  Amy’s gross pay for the week would be 



calculated:  



A. 6.50 x 40 + 530

D. (6.50 x 40) + (530 x .15)



B. 6.50 x 1.5 x 40

E. (40 x .15) + (530 x 6.50)



C. (6.50 + .15) x (40 + 530)

Group 8 continued

54. Which of the following payroll taxes is required by law to be withheld from an


employee’s gross pay?




1. Federal Income Tax
4. Federal Unemployment Tax




2. Social Security

5. State Unemployment Tax




3. Medicare


A. item 1 only


B. items 1, 2, and 3


C. items 4 and 5


D. items 1, 2, 3, 4, and 5

55. The ___ is a form that summarizes information about the earnings and deductions


of all employees for a pay period; whereas the ___ is a payroll record prepared for


each individual employee.


A. Employee Earnings Record; Payroll Register


B. Payroll Subsidiary Journal; Payroll Ledger


C. Payroll Register; Employee Earnings Record


D. Payroll Ledger; Payroll Subsidiary Journal

56. An amount paid to an employee based on a percentage of the employee’s sales


is called a


A. commission


C. straight rate pay amount


B. piece rate pay amount
D. surprise

57. The overtime rate set by the Fair Labor Standards Act of 1938 is ___ times the


employee’s regular rate of pay.


A. one and one-fourth


B. one and three-fourths


C. twice


D. one and one-half

58. Law requires employers to pay overtime for all hours over ___ per work week.


A. 45 (9 hrs x 5 days)

C. 48 (8 hrs x 6 days)


B. 40 (8 hrs x 5 days)

D. 54 (9 hrs x 6 days)

*59. Within the FICA tax, the ___ tax is deducted from each employee’s earnings each


pay period until the maximum taxable amount for the year is reached; whereas


there is no maximum for the ___ tax.


A. FUTA; SUTA


B. Medicare; Social Security


C. Social Security; Medicare


D. Federal Income Tax; State Income Tax


E. State Income Tax; Federal Income Tax 

Group 9

For questions 60 through 80 refer to Table 1 on page 10 and the work sheet on page 11.  The work sheet will not be reviewed by the graders or contest director.  Write the identifying letter of the best answer for each on your answer sheet.

60. What is the amount of Office Supplies in the trial balance column?


A. zero
B. $1,345
C. $1,590
D. $2,675
E. $4,020

61. What is the amount of Prepaid Insurance in the trial balance column?


A. zero
B. $1,850
C. $2,400
D. $3,600
E. $6,000

62. What amount should appear in the work sheet trial balance column for


Merchandise Inventory?


A. zero
B. $3,820
C. $56,400
D. $60,220


63. What is the amount of Office Supplies Expense in the trial balance column?


A. zero
B. $1,345
C. $1,590
D. $2,430
E. $4,020

64. What is the trial balance debit subtotal on the work sheet?


A. $179,575
B. $239,415
    C. $239,720
D. $245,995       E. $249,815

65. The amount of capital in the trial balance column is:


A. $48,920
B. $58,920
    C. $63,920
D. $85,435
     E. $216,700

*66. Total sales for 2000 are:


A. $88,860
B. $146,200
    C. $150,020
D. $152,780
     E. $161,505

67. The amount of the supplies adjustment is:


A. $245
B. $1,085
C. $2,430
D. $2,920
E. $5,610

68. The total insurance expense for 2000 is:


A. $1,850
B. $2,430
C. $3,600
D. $4,150
E. $6,000

69. The amount of inventory in the balance sheet debit column is:


A. $3,820
B. $56,400
C. $60,220
D. $91,680

70. On the line for Prepaid Insurance on the work sheet, the amount in the trial balance 

      debit column represents the value of insurance premiums


A. at the beginning of the fiscal period plus premiums paid during the fiscal period


B. paid during the fiscal period


C. expired during the fiscal period


D. at the end of the fiscal period

71. After the prepaid insurance adjusting entry has been posted, the Insurance 


Expense account balance represents the


A. prepaid insurance premiums at the beginning of the fiscal period


B. amount of insurance premiums expired during the fiscal period


C. prepaid insurance premiums during the fiscal period


D. prepaid insurance premiums at the end of the fiscal period

Group 9 continued

72. After the adjusting entry for prepaid insurance has been posted, the balance of the


prepaid insurance account represents the value of insurance premiums


A. prepaid at the beginning of the fiscal period


B. prepaid during the fiscal period


C. expired during the fiscal period


D. prepaid at the end of the fiscal period

73. A company recorded office supplies in an asset account when the supplies were 


purchased.  Failure to take an inventory and make an adjusting entry will result in


A. an understatement of assets


B. an understatement of owner’s equity


C. an overstatement of owner’s equity


D. an understatement of liabilities

74. The amount of insurance expense in the trial balance column is


A. $1,850
B. $3,600
C. $4,150
D. $6,000
E. none of the above

*75. What is the income statement credit subtotal on the work sheet before net income 


is calculated?


A. $86,820
B. $99,075
   C. $159,175
D. $152,595
     E. $162,995 

76. The cost of delivered merchandise is:


A. $91,680
B. $94,435
   C. $95,500
           D. $98,165
     E. $101,895

77. The amount of net purchases is:


A. $91,680
B. $94,435
   C. $95,500
           D. $98,165
     E. $101,895

*78. What is the balancing total on the post-closing trial balance?


A. $108,335
B. $111,095
   C. $113,335           D. $162,995
     E. $245,995

Again refer to the data in Table 1 and the work sheet.  For questions 79 and 80 write the correct amount on your answer sheet.

**79. What is the amount of net income or loss for 2000?

***80. After closing entries are posted, the capital account balance is a credit of _?_.

THIS IS THE END OF THE EXAM.  PLEASE HOLD YOUR EXAM AND ANSWER SHEET UNTIL THE CONTEST DIRECTOR CALLS FOR THEM.  THANK YOU. 

TABLE  1

(for questions 60 through 80)

Norville Spicer is the owner of Best Fires, a company that sells fireplace accessories.    Some of the unadjusted trial balance figures for his December 31, 2000 fiscal year end are as follows.  All have normal balances.

	Cash
	44,675
	
	Purchases
	98,165

	Office Supplies
	                ?
	
	Transportation In
	3,730

	Prepaid Insurance
	                ?
	
	Purchases Returns & Allow.
	3,750

	Merchandise Inventory
	                ?
	
	Purchases Discounts
	2,645

	Accounts Payable
	22,900
	
	Rent Expense
	18,000

	Norville Spicer, Capital
	                ?
	
	Utilities Expense
	7,225

	Norville Spicer, Drawing
	5,000
	
	Repairs Expense
	2,780

	Sales
	                ?
	
	
	


Additional Information:
1. The amount of office supplies on hand is as follows:


January 1, 2000…………………….$1,345


Purchased during 2000……………. 2,675


December 31, 2000………………… 1,590

2. Insurance information:


Unexpired as of January 1, 2000…………….. $2,400


Purchased during 2000………………………..   3,600


Unexpired as of December 31, 2000…………   1,850

3. Merchandise Inventory information:


January 1, 2000……………………. $56,400


December 31, 2000…………………  60,220

4. Capital contributions made by the owner in 2000 were $15,000.

5. Capital account balance on January 1, 2000 was $48,920.

6.  The company uses the one-step approach (record increase or decrease) to

     adjust for changes in merchandise inventory levels.

	Best Fires

	Work Sheet

	For Year Ended December 31, 2000

	Account Title
	Trial Balance
	Adjustments
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	44,675
	
	
	
	
	
	
	

	Office Supplies
	
	
	
	
	
	
	
	

	Prepaid Insurance
	
	
	
	
	
	
	
	

	Merchandise Inventory
	
	
	
	
	
	
	
	

	Accounts Payable
	
	22,900
	
	
	
	
	
	

	Norville Spicer, Capital
	
	
	
	
	
	
	
	

	Norville Spicer, Withdrawals
	5,000
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	Sales
	
	
	
	
	
	
	
	

	Purchases
	98,165
	
	
	
	
	
	
	

	Transportation In
	3,730
	
	
	
	
	
	
	

	Purchases Returns & Allow.
	
	3,750
	
	
	
	
	
	

	Purchases Discounts
	
	2,645
	
	
	
	
	
	

	Rent Expense
	18,000
	
	
	
	
	
	
	

	Utilities Expense
	7,225
	
	
	
	
	
	
	

	Repairs Expense
	2,780
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


